MP343

BSO Liue

Packing List
fem No. [Jescripfion Qfy
T |Base {
2 |Frame 1
i [M8*20 bolt i
Lo M8*12 bolt 7
5|98 washer b

Packing List
tem No. [Jescripfion Qfy
T [Base {
2 |Frame 1
3 |M8*20 bolt i
L |M8*12 bolt i
5|98 washer b




